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QUESTION 1

Which three failures do not require intervention for recovery? (Choose three.) 

A. user process failure 

B. media failure 

C. statement failure 

D. network interface card (NIC) failure 

E. transaction failure 

Correct Answer: ACE 

 

QUESTION 2

Which three failures require intervention for recovery? (Choose three.) 

A. a user error such as dropping the wrong table 

B. network interface card (NIC) failure 

C. user process failure 

D. statement failure 

E. media failure 

Correct Answer: ACE 

 

QUESTION 3

What two are benefits of Data Pump? (Choose two.) 

A. It can execute in parallel. 

B. It can restart failed export jobs. 

C. It makes use of client system resources. 

D. It can export data into sequential media, such as tapes. 

E. It represents database metadata information as DDL statements in the dump file. 

Correct Answer: AB 

Reference: http://www.acehints.com/2011/05/oracle-data-pump-advantages.html 
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QUESTION 4

A user complains about poor database performance. You suspect that the user\\'s session is losing time waiting for
events to complete. 

You want to verify this. 

Which view reveals on what events a session has spent time waiting in the past? 

A. V$SESSION_WAIT_CLASS 

B. V$SYSTEM_EVENT 

C. V$SESSION 

D. V$SESSION_EVENT 

E. V$SESSION_WAIT 

Correct Answer: C 

Reference: https://blogs.oracle.com/oraclemagazine/beginning-performance-tuning 

 

QUESTION 5

TBS1 is a permanent user-defined tablespace created with Oracle Managed Files (OMF). Examine this command: 

Which is required to ensure that TBS1 is dropped and its datafiles are deleted from their file system? 

A. The INCLUDING CONTENTS AND DATAFILES clause must be added to the command. 

B. TBS1 must be placed in READ ONLY state. 

C. Objects in TBS1 must not be in use when the command is executed. 

D. TBS1 must not contain any temp files. 

E. DB_CREATE_FILE_DEST must refer to an Oracle Automatic Storage Management (ASM)disk group. 

Correct Answer: A 

Reference: https://docs.oracle.com/cd/B19306_01/server.102/b14200/statements_9004.htm 
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